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MENTAL ABILITY TEST
Directions: (Q. No. 1-3): In the following questions, three terms are alike in some way and
l so form a group white one is different from others. Identify the term that does not helone
to that group.
Frder: (WoHo1-5 ) : Fmy wosi W i viaz fordit ®u o vah WuT ¥ 3917 Uk |ug 5ed §, Aafew
Uk Ve 3 il 4 fu= ¥ ) 3| vies 9 S wgw | e
I C {1y Branjal (2) Cauliflower
(32) Capsicum () :\pp'ln:
Lo (A (2) EE TS
(3) Formen o (4) Fa
. (1) Week (2) Monday
{3) Thursday {(4) Saturday
(3) ArEmn (4) wifem
3. (1) Mathematics {2) English
(3) Subject (4) Science
3. |: ] ) I[i 'II(I (2} Bqﬂ »;ﬂ
]| (3) famg (4) fagm
‘ 4, (1) Sun 2) Stur
| (3) Moon (4) Sea
J a () (2) L
(3) ==m (4) {H=
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5. (1) Computer (2) TV
(3) Bed (4) Mabile
5. (1) ¥R (2) ZeArdr=
(3) famn (4) HEEH

Directions: (Q. No. 6-10): Complete the given series.
o wo o 1-5 ): F E gime W g wL

b. 0.5, . 20, 40

(1115 (2) 18

(3) 10 () 16
7 8. 8:.12 23

(1) I8 (2) 17

(3)16 (413

(18 (2) 10
{(3)12 ETRE

9. V5% U SN i A )
(12 (2)13

(3)15 (4116

0. 70,50, ..., 2520
(1) 33 (2) 40
(3) 30 (4) 45

IJ




Directions: (Q. No. 11-15): Arrange the following words in a meaningful order.
faeer (wo Ho 11-15): Fe7 vresi =t =faw o o fema)
1.

13.

(1) Sell (2) Grandfather

(4. 3.2, 1

(3y2.4.1.13
{1)==9 (2) =1
(1)4.3.2.1
(3)2.4.1.3
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(1) Parliamentary Constituency
{3) Panchayat
(1) 1.2.3. 4

(3)3,2,1.4

(1) FEREYT 4

(3) 94

Lol

(3) Son (4) Father
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(4) foaan

(4) lob
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(3)y 5 (4) AT
(2)3.2.4. 1

(4) 2, 3,4, 1

(2) Zila Parishad

(4) Assembly Constituency
(2). 4 3: 254

(4)3.2,4.1

(2) Torem gftwg

(4) Tasmrman &=
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(1Y1,2.3.4 2)4.3.2, 1
(4y3.2.4.1

= 3

(332 1.

I (1) Knee (2) Wais (31 Foot 4y Neek
(1) 1. 2.5.4 (2)2:. 1. 5%
(3)4.2.1,3 (43.4.1.2

14 (1) g (2) FI (3) i () T
(1)1,2.3, 4 (2)2. 1.3.4

G4, 2, 1.:

-
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13, (1) Seed (2) Trunk (3) Leal thy Floser
(1)1.2.4.3 (2)1.2.3. 4
(3)2.1.4.3 (4.5 1

15 (1)Es (2y @ (3) W (<h) e
(Iy 1. 20405 2y 1.2 3.4
(3)2.1.4,3 ()45 1.2

Dircetions: (Q. No, 16-20); In the following questions there are three words out of which
first two are related in some way. The same relationship bolds between (he thivd word
and ane of the responses (1), (2), (3 or (4). Identify the correct related word.

o (Wo Hoe 16-20): Frer wodl o i =2 faw 7w ¥ ) wger 21 v faadl Wy sam o
[rat=rd & | 9T gy /ey 307 fau o fammedi (1), (2), (3) 31 (4) W 7@ v v ¥ watw
T @ AT |

16. Fire © Heat - Snow -7
(1) Eat (2)Cold
(3) Meli (4) Freeze




17
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M L YH) o EE S
(1) @
(3) foaern

Aeroplane . Air = Car . 7
(1) Water

(3 Road

A Y W
(1) et

(3) HEF

D 4.6,
SE R

f

(1} =%

12

1 ]

Comb - Hatr = Pen .
{11 Book

(3) Paper

ESTIEC TIPS C I
(1) forama
(3) foeen

I

(2) 3=

(4) = S

(2) Track

(4) Snow

(2) 9=
(4) T

(21 Regster

() Library

(2) HE=a
() TEIFA




20. 121141 289 .9
(1113 (2) 15
(3) 17 (4) 19
Directions: (Q. No. 21-30): In cach of the questions three problem figures are given. Select
a figure amongst the answer figures which will continue the same series as given in the

problem figures.

79T ( Wo o 21-30 ): Wedah WA # A wwen fea faw mo ¥ 13w femi i v v e = o0 B
s fors O & W sf@en i s e

Problem Figures Answer Figures
(XD 2 M| XD
(1) (7 (%) )
- AJAIA|? AlAAIN]
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(1) (2) (3} {4
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31.

‘rd
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33,

34

Day before yesterday was Sunday. What will be the day after tomarros
(1) Wednesday (2) Thursday

(3) Tuesday (4) Friday

urH| ifaan o1 | wE wE-m fa e
(1) FHEn (2) drEw
(3) HITETEm (4) YFHan

If the first day of the month is Tuesday. What will be the day on 25" ol that montic’
(1) Friday (2) Thursday

(3) Tuesday (4) Wednesday

fret T =t wewt fafe = wrerEnr g 33 a0 25 faty = e fom w2
i1} AR (2) drEn
(3) TIEER (<) FHaR

Ram is 6" from either end of a row of boys. How many boys are there in that row”
(1)9 (2y 11
(3) 10 412

u vifen § 2 T A e A wE wome # ) dfe  Fe e s w2
(M9 (2) 11

(3) 10 (4) 12

A lady said that Rajeev’s grandfather is the only son of'my fiather How is Lady related w

Rajeev?
(1) Daughter (2) Sister

{3) Niece - (4) Grandmother




34, U wfeen wedt ¢ 15 Teite % gm0 foe S 5 vt 0 1 wiEen o asfra e avac

&2
(1) (2) 7
(3) wrersit (4) =T
35, A person walks 3 km in a direction and returns back 3 km. How far he is rom starting
pount’?
(1)8 km (2) 2 Kkm
(3) | km (4) 0 km

35. U oAl O faen W 3 fR A 50 a9 e & sl s ot gl e 30 snfies [
H T fma g1 32
(1)8 f&m (2) 2 T 31
(3) 1 fem e (4) 0 T+t

Directions: (Q. No. 36-40): Arrange the given words in alphabetical order and choose the
one that comes first in the dictionary.

91 (Wo Ho 36-40 ): e vissl W @ a1 vrez HHU AT VIsahi™ & 3TTHIT Tget 307ar 7 |

36. (1) Private (2) Prince
(3) Perform {4) Parcel

37.  (lyKnfe (2) Knowledge
(3) Keeper (4) Kind

K. (1) Best (2) Bite
(3) Beat (4) Beak

39. (1) Singer (2) Sight
(3 Self {4) Sack

40. (1) Rest (2) Risk
(3)Rim (4) Ring
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Direetion (Q.No, 41-45); Arrange the given words in the sequence in which they oceur in
the dictionary and then choose the correet sequence.

9291 ( Wo Ho 41-45 ): Frey visst w1 3W w0 ford Fag &g & 9 3000 vregante O it & 3

41 (1) Angry (2) Awesome (3) Acrial (<h)y Acroplane
(1) 1.2, 3,4 (2)2.1,3,4
(3)3.4.1,2 (4)3,4.2, 1

42, (1) Department  (2) Degree (3) Disgrace (<) Dog
(1)2,1.3.4 (2)2.3, 1,4
(3)3; 2; 1.4 (4)1.2,3.4

43. (1} Forest (2) Iight (3) Finger 1<) bestval
(1) 1,3, 2.4 (2)1.2.4.3
(3)4. 2.3, 1 (4)4,2, 1.3

44 (1) Nest (2) Night (3) Nail (4) Nose
(1)3,1.2.4 (2)3.1.4.2
(3)3.4.1.2 ($r4.3.1.2

45, (1) Ship (2) Shecet (3) Scal (41 Salc
(1)4.3.2. 1 (2)4.3.1.2
(3)4.2,3.1 (4)1,2, 3,4

46. In the given series how many times 5" has come exactly before *377

2,3.54,6,5: 253, 1,4,5,31:,45363.5
10




46.

47.

47.

48.

48.

49

It a” stands for “+", *b” stands for *-" and "¢” stands for “x". Then what will be the vl

{13 (2)2

(3) 1 (4) 4 4
21 g gren | Tt AR gwm 3 8 wd 5 &7

(1)3 )2

(3) 1 (4) 4

of2¢3b4as?
(1) 8 (2)7
(3)6 (4)-2

AfG a” M F o b F I AW I A xR A2 I b A S wEA B

(3)6 (4)-2

I FOOT is coded as ABCD, then HOOD will be coded as:
(1) XBC/Z (2) XCBZ
(3) XZBC (4) ZBCX

& Hishfad amr F FOOT #1 mfs=® w2 ABCD ® @ HOOD 1 il F1s w0 407
(1) XBCZ (2) XCBZ

(3) XZBC 4) ZBCX
If A is to the South of B. What is the direction of B to that of A7

(1) Fast (2} West
(3) North-East (4) North

11




49,

1
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afe A, B afem o ¥ 91 B A &1 fog fean § &2
(1) 99 (2) "fyan

(3) - (4) IW

At 12 Noon what is the minor angle between minute hand and hour hand of @ clock!
(1) 360° (2) 180"
(1) 90 (4) 0°

feg & 12 w9 =S #) fiez =1 g3 aw 9w = 5 F A fae sy ey Fw e
{1) 360F (2) 180
(3) 90 (4) 0




